
www.aeroflowperformance.com 
 

 

 

 

Holden V8 Alternator Bracket Kit 

Part No: AF64-4025, AF64-4025BLK 

Adjuster bracket bolts to the 

boss on the underside of the 

water pump as per the 

original bracket with the 

supplied 5/16” UNC 

capscrew. 

3/8” UNC capscrews 

3/8” UNC nut and  

Flat washer 

Short (30mm) spacer goes here. 

Alternator fits here 

Short 5/16” UNC capscrew 

screws into the alternator.  

Kit contents: 

Front plate x 1 

Rear plate x 1 

Adjuster bracket x 1 

Long spacer x 3 

Short spacer x 1 

3/8” UNC capscrews x 4 

Long 5/16” capscrew x 1 

Short 5/16” capscrew x 1 

3/8” UNC nut 

3/8” flat washer 

Front plate 

Rear plate 
Long (86mm) spacers 

Adjuster bracket 

 


